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CRARON sHADED CHEVRONS KNIT BABY BLANKET | KNIT

L

Caron® Baby Cakes™ (3.5 0z/100 g; 231 yds/211 m)

Contrast A Ballerina (50010) 3 balls

Contrast B Dreamy Rose (50001) 3 balls

Size U.S. 8 (5 mm) circular knitting needle 29" [74 cm] long or size
needed to obtain gauge.

CAK0502-009922M

@ KNIT | SKILL LEVEL: EASY

ABBREVIATIONS

Approx = Approximate(ly)

Beg = Begin(ning)

K = Knit

K2(3)tog = Knit next 2 (3) stitches
together

M1 = Make 1 stitch by picking up
horizontal loop lying before next
stitch and knitting into back of
loop

Pat = Pattern

Rep = Repeat

RS = Right side

Ssk = Slip next 2 stitches knitwise
one at a time. Pass them back
onto left-hand needle, then knit
through back loops together.
St(s) = Stitch(es)

WS = Wrong side

MEASUREMENTS
Approx 33" x 38" [84 x 96.5 cm].

GAUGE
17 sts and 36 rows =4" [10 cm] in
garter st.

INSTRUCTIONS
Note: Carry color not in use
loosely up side of work.

With A, cast on 171 sts. Do not
join. Working back and forth
across needle in rows, proceed as
follows:

Knit 3 rows (garter st), noting first
row is WS.

1st row: (RS). With B, K1. ssk. *K5.
M1. K1. M1. K5. K3tog. Rep from *
to last 14 sts. K5. M1. K1. M1. K5.
K2tog. K1.

2nd row: Knit.

3rd and 4th rows: Rep last
2 rows once more.

5th to 8th rows: With A, rep 1st
to 4th rows.

These 8 rows form zigzag pat.

Cont in pat until work from beg
measures approx 37%" [95 cm],
ending on a 4th row of zigzag
pat. Break B.

With A, knit 3 rows (garter st).
Cast off knitwise (WS).
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